Tk 254E-8 H 43 J5 A LR s

= BRI
WG e 5o B ¥ R 2

) | 2 FRERIMERAE] BT £ X K "
¥ i REZ | BREZAT i £
(G~ RSO IR GO %
Ak s 2 5 14 -9 -64.3 |4 H oy EEEH
ke T3 13 5N TR AR 0
ARZ DA DOFHERL L (YERF 2 )
ARE « AHR i B 3 1 1 G E Y 0
W5 g i (WERE 6 1)
VT i I T B 5 S 2 3 -1 -33.3  |ZQim o S E 2
FlTn] - A3 CYERFE 13 1)
{2 T3 41@ 6 -2 -33.3  [SKEMER S
L | AR RS 1 -1 ~100.0 CHERFE 5 F)
" leme 4 9 | 5 | w56 |mEnmE 0 ff
ke B G CYERFE 10 )
G BB B e 5 [ 10 -5 -50.0 |EEREICRKITOEEE 3
— kit B AE 2 5 2 3 150.0 (éﬁﬂeﬁ 9 )
w U A B s 2 4 1 3 300.0 |[HEEZEICE
1% Pk S5 s 2 1 1 PCTREVAR %@K’*«% 2
BR A KEE (HERF 12 1)
ZOfoRLESE 7 2 5 250.0
7 i (1 381G 49| -11 -22.4 |UNEZ) 1IR3, REAEAL
g | EART A 5 6 -1 -16.7 &) 3R (A IX
L, ST 5 1) 18 20 -2 -10.0 |[EEEHSEOTNE NN
F% Z DO 1 12 5 7 140.0
* /N = 6 | (1) 35 31 4 12.9  [PMEE O () NOEfEIT
i B i ik 2 10 25 -15 -60.0 [FETHFETHEK
W TE R 3 411 (1) 48 -7 -14.6
| BRI OE R 1 1
* /I i 52 | (1) 74 -22 -29.7
;;j e RSB 22 15 7 46.7
I P s 2 2 -2 -100.0
z AN 7 22 17 5 29.4
JERE
7 | PE OKPESE 3 5 -2 -40.0
[HES 31 31
D (/N5E2E) 16 18 -2 -11.1
X SIS 2 2
“ iIEES 3 4 -1 -25.0
BH W 2 1 1 100.0
” Dretafiir A= 2 6 8 -2 -25.0
oSS X R T 5 6 -1 -16.7
eSS eSS 15 16 -1 -6.3
H (R AE) 13 14 -1 -7.1
R ARt S 14 1@ 16 -2 -12.5
i OO 1@ 10 4 40.0
7N i 90 | (3) 93 -3 -3.2
& 7 (2 237] (1) 264 -27 -10.2




